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𝑓𝑤𝑢𝑎𝑥,𝑙 =
𝐴𝑥,𝑙

𝐴𝑟𝑒𝑓
=

𝑇𝑥,𝑙

𝑇𝑟𝑒𝑓

𝑓𝑤𝑢𝑎𝑥,𝑙 𝑥 𝑙

𝐴𝑥,𝑙

𝑥 𝑙
𝐴𝑟𝑒𝑓

𝑇𝑥,𝑙

𝑥 𝑙
𝑇𝑟𝑒𝑓 

𝐴𝑥,𝑙 𝑇𝑥,𝑙

𝐴𝑥,𝑙 =
𝑄𝐴,𝑟𝑒𝑓

𝑃𝑥,𝑙

𝑇𝑥,𝑙 =
𝑄𝑇,𝑟𝑒𝑓

𝑃𝑥,𝑙

𝑄𝐴,𝑟𝑒𝑓

𝑄𝑇,𝑟𝑒𝑓

𝑃𝑥,𝑙 𝑥 𝑙

𝑓𝑤𝑢𝑎 = 1,0



𝑓𝑤𝑢𝑎𝑝 = 1000 500⁄ = 2

𝑓𝑤𝑢𝑎𝑠𝑤 = 1000 100⁄ = 10
𝑓𝑤𝑢𝑎𝑔𝑤 = 1000 50⁄ = 20.

𝑊𝑆𝐹 = ∑ 𝑓𝑤𝑢𝑎𝑥,𝑙 × 𝑊𝐼𝑥,𝑙

𝑓𝑤𝑢𝑎𝑥,𝑙 𝑥 𝑙

𝑊𝑆𝐹

𝑊𝐼𝑥,𝑙 𝑥

𝑙
𝑇𝑟𝑒𝑓 

𝑓𝑤𝑢𝑎𝑠𝑤

𝑓𝑤𝑢𝑎𝑠𝑤−𝐶𝐻𝑀𝑈 =
𝑄𝐴,𝑟𝑒𝑓

365,25 × 86400 × 𝑄𝑎
1000000 × 𝐴

𝑓𝑤𝑢𝑎𝑠𝑤−𝐶𝐻𝑀𝑈

𝑄𝑎

𝐴 

𝑓𝑤𝑢𝑎𝑠𝑤−Hněvkovice =
1

365,25 × 86400 × 30,6
1000000 × 3540,29

= 3,666177

𝑓𝑤𝑢𝑎𝑠𝑤−Kořensko =
1

365,25 × 86400 × 54,9
1000000 × 7828,85

= 4,518785



𝑓𝑤𝑢𝑎𝑠𝑤

𝑊𝑆𝐹 = 𝑓𝑤𝑢𝑎𝑠𝑤−𝐻𝑛ě𝑣𝑘𝑜𝑣𝑖𝑐𝑒 × (𝑜𝑑𝑏ě𝑟 + 𝑣ý𝑝𝑎𝑟) −  𝑓𝑤𝑢𝑎𝑠𝑤−𝐾𝑜ř𝑒𝑛𝑠𝑘𝑜 × 𝑣𝑦𝑝𝑜𝑢š𝑡ě𝑛í

 

 

 



𝑓𝑤𝑢𝑎𝑠𝑤−Mohelno =
1

365,25 × 86400 × 5,351
1000000 × 1155,26

= 6,841334

𝑊𝑆𝐹 = 𝑓𝑤𝑢𝑎𝑠𝑤−𝑀𝑜ℎ𝑒𝑙𝑛𝑜 × (𝑜𝑑𝑏ě𝑟 − 𝑣𝑦𝑝𝑜𝑢š𝑡ě𝑛í + 𝑣ý𝑝𝑎𝑟)

 

 

 

 

𝑓𝑤𝑢𝑎𝑠𝑤−Ptáčov =
1

365,25 × 86400 × 5,401
1000000 × 962,71

= 5,706965
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